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2.2.4 Place
1.	Explain the difference between e-tail and e-commerce.John Lewis
In 2008 John Lewis introduced its Click and Collect service. Customers can order items online and have it delivered to their nearest store for free. 
By 2015, 6 million items were being ordered by John Lewis customers compared to 350,000 in the first year of operation. Unlike some stores such as Argos, John Lewis service this demand from a central distribution centre based in Milton Keynes and deliver items to its nationwide John Lewis and Waitrose stores. (Argos, on the other hand, service its online demand from its existing store stock).
In 2015, John Lewis announced that it was introducing a £2 collection fee for any orders with a value of less than £30. 
However, the policy might have negative implications too. Some customers will simply purchase products elsewhere or have items posted to their homes. The latter prevents any follow-on purchases once the customer is collecting from the store. House of Fraser has recently relocated its poorest performing departments next to the online collection points in order to boost sales.

 	
 	
 	
 	
2.	What are the three main methods of distribution? Briefly explain each one.
 	
 	
 	
 	
 	
 	
3.	Why do you think John Lewis decided to charge its low-value order customers £2.00 for its Click and Collect service? (6 marks)
 	
 	
 	
 	
 	
4.	What are the advantages and disadvantages of the distribution method adopted by John Lewis compared to the online model adopted by Argos. (6 marks)
 	
 	
 	
	
 	
5.	Calculate the percentage increase in Click and Collect orders in 2015 compared to in 2008?
 	
 	
 	
 	








[image: ]
[image: ]

…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………………………………………………
[bookmark: _GoBack]…………………………………………………………………………………………………………………………………………………………


[image: ]
GCSE Business Dynamic Learning © Hodder & Stoughton	1
image1.png
« > 0

LS| | W Weebly

‘ @2 Outlook Web App View Page

o]

) ™ 2 Tl

Navigate

Lessons

Messages Reports

W Product trial and repeat pur coca cola strawberry - Bing

+ v

B https://my.dynamic-learning.co.uk/ViewPage.aspx?tid=0e70ccb4-abc6-4639-817e-d6e00d579fbb&fn=dps0190-0191.swf#

Enter a term, or just click Searct

Q

Mr Pujara 1 v

@ i\ |Edexcel GCSE (9-1) Business, Second Ediition

Practice questions

¢ Arecord £1 billion of items were returned after
: last year's Black Friday as online customers

: adopted a ‘buy now and decide later” attitude.

: Some stores - mainly women's fashion outlets
: - saw more than 60 per cent of online sales

: returned within 30 days. Business consultants
: Clear Returns suggests that returned parcels

: may be costing UK retailers £60 billion a year.

Many store chains have invested heavily in

: online distribution channels - only to find that

: stock management is made doubly difficult and
: expensive due to customer returns. George

: Mensah, a retail expert at consumer analyst Shore
: Capital, says the volume of online returns was a
: major concern for some retailers. ‘Last year the
: disruption caused by having to deal with a high

: level of returned items in late December meant
: retailers struggled around Christmas time, and
: this year it could be even worse.’

‘It can cost double the amount for a product to be

returned into the supply chain as it does to deliver
: it says lain Prince, supply chain director at
: KPMG. He points to the online purchase of a coat,

n
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for instance: ‘To pick and deliver an order costs
between £3 and £10 — it could cost double or
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Figure 39.3 Online returns

5. 'We want our customers

to be happy and if they want to return items, we
want to make that process as simple as possible,
says John Lewis. ‘As such we will continue to
focus on customer convenience.” Figure 39.3
shows how costly that might prove.

compared with 20

Total: 18 marks

1 (a) From Figure 39.3, identify which
product category has the highest rate of
customer returns.

(M i
(b) Outline one possible problem for retailers :
about encouraging customers to buy
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